
.
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QQdol ~~~dSltM1, nftx#wh‘kYrnrYu~nt  rkw~5didm; (EC 2151,

(n~~r?wunmms  : 'ir~tir~flun;, 25231,  W;I  2 2 8 - 2 6 4 .
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11 Rnlph  E. Gomory, "Algorithm for Integer Solution to

Linear Programming, " in ReCent  Advances in Mathematical PXJP~ng,

ed. by Bebert  L. Graves and Philip Wolfe (New York : McGraw-Hill

Book Company, 19631,  pp. 269302.
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MEKimiza  6uinilrlizc)  : eb jective

R- llXl

Subjactta  :

+ ?2x2 + . . . + InXn

constraints

'11xI + �L12X2 + l . . + PlnXn 6 Cl

l 2lxl + aZ2x2  + . . . + abxn 6 C2

. . . . . . ..T......i...................

alUlxl + a&x2  + . . . + amxn < Cm

Ud: &cisiM;  variables

5,’  , . . . , x =2 a 0 or lor 2 or . . . integer
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R = PIXl  + P2X2  + . . . P*X,

Subject of : constraints

allxl + a12x2  + . . . + alnxn Q C l

a21x1 + a22x2  + . . . + a2nxn 4 C2

.;i................................

amlxl +am2x2 + . . . + a xmnn d cm

and : deoision  variables

5,s  and xl with integer values
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4. nlsulfilraau
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Maximize

R = 12x1 + 8x2

Subject te

x1 -s 5

2x1 + x2 6 12

and XII x2 = 0 or 1 or 2 . . . integer





12

11

10

9

8

7

6 a .

l . .

\

\

. . .

* .

%

. .

FEASIBLE  REGLON \. ..rB

. . . .

x = 5
2

x2 - 7

-integer lattice pint

---ii = 12x1+8x
2

= 84

1 2 3 4 5 6 7 8 9
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,.
x1 = 3, x2 = 6 WI:  R = 84 IhbQ-!



x1 = 24

x2 = 7 I
nrruaunis4*ndauL&

x1 = 3

x2 = 6

R = 86

R = 84



1 9 9



uwnrruaunitqhau~  %J  :

blaximizc

R =

S u b j e c t  t o

x1 Q

x2 4

&l+ x2 4

a n d  x ,  x12 =

12x1 + 8x2

5

7

12

0 er 1 or 2 or . . . integer
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2x1+ x2+ s
3

= 12

and x1'x2' s1rs2,s3  = 0 or 1 or 2 or . . . integer

wfa

M a x i m i z e

R = 12x1+  8x2

Subject to

s1 = 5 - x1

s2 = ' 2- x

s3 =
12 - 2x1- x2

and x1rx2,s1’s2?s3  = 0 or 1 or 2 or . . . integer



2 0 2

- William J.Baumol,Econotic  TReery a& Operation

Analysis ( 3 rd ed., Englewood Ciffs, New Jersey : PrinticrIiall,
-

Inc., 19721,  pp 70-102. -. . .,- .

- ~c@.J ~?fdnlW,  &I 228-264.
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slls-14  4-1

R

s2

s3

RlCl-4 4-2

Constants x1 x2

I

0 I. 1 8
- - - - - $ - - - ----s---m_

JL----
-cl---+-  1

7
t

- 1
I

12 ' -
I 1

- 1

Constants s1 x2

R

x1

s2

s3

I

60 f - 12 Q
-------;-- ------_-- -

5 I -1 0
I
I

7 I 0 -1.

5
?I=

12
7=

5 //

6

7
i
2
i

= 7

= 2 f
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Constants
s3

76
i

R

x1

s1

x2

constants
s2

86 j - 2 - 6
--me- - + - - - - - - - - - -  -em-

21 I 1 1
T I z -3
& i -- 1 1
2

I
2 z

7 I
I

- 1 0

s3



- 2 0 5

LLR; d4dln~lLaEvJ~  AD :

x1
= 24, s1 =

2 4

x2  = 7, s2  = 0

s3  = 0

R = 86



x1 = 24 + ss2  - 4s,

URI x1- %s,  + 4s,  = 2%

qln~~bbun~~rrAn~tbq~nlin~ejuo~dunls~l~~~;;oanb~wda~d’aw  ~mfGdawu&

bBwihaadt&  (integer) hhdw&bihhtdib  fhdauuan  (nonnegative

fraction) 648

(1+0)x1 + (-14)  s2 -t. (o+$)  s3 = 2+%

~lr3itt~s~qdP;l~~sr:RnSt~q’7waut~u?n  (integer coefficients)

~7uoonlJn74&uua7d0

+ s2
+4s

3 =
r,  + (2 - x1  + s2)
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% s2 + 4 s3 = 4 + integer

H%il 4s
2
+4s 3 > 4 i Gamory  Constraint

WC0 s2 = 7 2
- x

2x1 + x2 + s3 = 12

H10 s3 = 12 - 2.x1  - x2 a


